X O O O O
O O O O
JACKS UP
115mm_STROKE (out of 150)
O O O O
5050
I ; \7‘¥ o ; H
i

O O O O

T e T A R i P == i !

17 0T O
=== — =
. |
O
©
INCLINATION 16% | |
(::5//// 700 560 700 = N N
s e s RATCHETS DETAIL FROM TRANSPORTER AND CHAIR
1010 5044 910
TRANSPORTER _UNDER CHAIR o
7864

Lo
Jlel | 1
) | QUANTITY IN THE BILL OF MATERIAL ARE FOR ONE UNIT.
i m— E— | ﬁ UNIT WEIGHT = 9000 ** Kg
‘ [T h u L NUMBER OF UNIS FOR EACH EQUIPMENT = 4
| F I TOTAL WEIGHT = 36000 K
WA i < (Cr T 9
() | N BACKWARD \{ FORWARD
N ol - il
| L F RIGHT
i EEEE D NV E— S b 11 | 1 | JB CONNECTOR
3 | | 10 | 4 | LED LHIGHT 20w
9 2 | ANCHOR BAND ABS 2X01215 L=4.2 2.5 TON SPANSET
3 T | HEAT EXCHANGER - 50 50 | EMMEGI
| S / T | DIESEL TANK PICCINATO 185It - 30 30 [WITHOUT FUEL **
elEte )
6 T | MAIN ELECTRIC SWITCHBOARD - 200 | 200 |-
‘ i 5 T | SENSOR GROUP T45DUES0001 5 5 |-
4 T | HYDRAULIC POWER UNIT T45DUAKAQOT | 1400 | 1400 |WITHOUT OIL **
' 4| ENCODER GROUP T45DUADCOT1 1 4=
LG RO TECHNICAL CHARACTERISTICS OF THE EQUIPMENT :
2 T | WHEELS GROUP T45DUADCOTO | 3760 | 3760 |-
X Max. speed Max. speed Max. speed
Gradient Unloaded 30 Ton Payload |43 Ton Payload 1 1 | STRUCTURE GROUP T45DUADAOOT | 3510 | 3510 |-
(Km/h) (Km/h) (Km/h) POS. [QTY|  DRAWING TITLE MARK | DRAWING N | UNTy o JOT 1 COLOR | NOTES
SCALE 1:40 g:i Z g fg fg 01 |03/03/2022] RENAMED ASSEMBLY ciwe | puwda | parolo
4-5 % 2.5 15 15 00 | 24/11/2021 FIRST ISSUE Sic | pada | porolo
5-10 % 2,5 1 1
10-16 % 1,5 1 1
No. DATE ISSUE DRW. CHK. APP.
PROJECT:
/“‘\' ‘ﬂ TECHNICAL CHARACTERISTICS OF THE EQUIPMENT
\‘;\ﬁi‘ Carring capacity 43 (metric Ton) TILE:
\‘ = Gauge 1360 mm ‘
/\ﬁ\‘i\’/fﬁ Distance between lifting Jack 1500 mm SEGMENT TRANSPORTER GENERAL ASSEMBLY
|l \‘!‘/\ﬂ/ ) Outside width 2450 (mm)
‘ . “ |\ L|ft|ng stroke 150 (mm) Scale Drawing format Sheet of
Max Longitudinal surmountable slope (single mode) +/— 16% DE L g @ 1:20 A 1 3
Max Longitudinal surmountable slope (twin mode) +/— 1% A CLASS Nr. Originator: Total weight [kq] :
Max Transversal surmountable slope +/— 3% - 3099 Tg45 i :
Type of tyres 12.00 — 20 y Bgtetd'e—eF Stgbmménto
Numbers of tires 8 3305‘5%7Puozrz‘ao\omdze‘(\m?ﬁuHor(gUnS)CE\OtG\y DEAL document n.
Tire pressure 10 bor phEEs e | ot gow
Tyre filling 70% water+anti—freeze fluid o eei0deal
Steering wheels groups 4 e T45DU GD O 001 OW
Motorized wheels 8
Steering mode (ref. to sheet 3) Project n.
Tot. Power installed 55 kW
Equipment control By Radio Remote Control
ALL RIGHTS RESERVED INCLUDING THE RIGHT T0'REPRODUCE OR TO' DISCLOSE TO' THIRD PARTIES THIS DRAWING OR POSITION® THERE OF WTHOUT DEAL WRITIEN AUTHORIZATION




19236

O O O O O O O O O O
O O O O O O O O O O
O O
O ® O | SHin O O @ @ O ® O
O | [ | | O
i TH] I o 7h T i THT b T il il i = "
b © o 0O o ot | of O O O % o 0O o o ©
i i & = i & = i m
i f
= =[] = — | = =
1 5 5 Rl
= - L = s
7 T w / I T v gg T v fﬁ T T gg T w ] I ] | ﬁwﬁ v v gg ¥ v fﬂ - gg T v T ¥ v ¥ De
M\ il i/ ‘ " "
O — S S— |
| \\\ & 3t B '
i / il i \ E%%\’T 9 N i
= [ B ] T ] \ (‘ | - .
\ F |
F ‘ | o 1
| 9270 |
SLAVE MASTER
FORWARD (IN TWIN MODE) —> FORWARD —>
CABLE FASTER CONNECTION
i I i / i
I i VR #NH / ”W\\/ | ‘ ﬁ]
1 |
= % %L% f r=; I eo— 7
+ a - ]
™
s i e M I i I
| E— H W ” k%) ” iii ﬂ_al— — +— E—— 1N
| oy I o §s n
I Op B i L
- — *_%UF; J .:*5‘! S - T
LEliy 28 S b WDCARN i)
%] . g : [ﬂﬂ]ﬁ 01 103/03/2022| RENAMED ASSEMBLY chiuve parola parola
% : T_\ = = . ﬁ 00 [24/11/2021 FIRST ISSUE Spic parola parola
l 1} No. DATE ISSUE DRW. CHK. APP.
— oo 0%  J PROJECT:

‘ TITLE:
Jﬁ SEGMENT TRANSPORTER GENERAL ASSEMBLY

| Scale Drawing format Sheet Of
EJO | s A1 2 3

- DEAL CLASS Nr. Originator: Total weight [kq] :

3099 145 —

Sede e Stabilimento

Via Buttrio—Frazione Cargnacco
33050—Pozzuolo del Friuli (UD)*H:O\)/ DEAL document n.
Tel.: +39 0432 607 900

Fax.: +39 0432 607 902

e-mail: deal@deal.i : ‘|'45 D U G D O O O 1 01

Project n.

doc type group Rev.

ALL RIGHTS RESERVED INCLUDING THE RIGHT 10 REPRODUCE OR TO DISCLOSE TO THIRD PARTIES THIS DRAWNG OR POSITION THERE OF WITHOUT DEAL WRITTEN AUTRORIZATION




MAIN ELECTRIC SWITCHBOARD

MAIN ELECTRIC SWITCHBOARD

TWIN 90" — STATIC

MAIN ELECTRIC SWITCHBOARD

MASTER
FORWARD —=>

MAIN ELECTRIC SWITCHBOARD

TWIN CRAB DYNAMIC +/— 10

HH “H J—l
. HH I - . __” 2
MASTER
FORWARD Z|'>
SINGLE STATIC 90°
= T;W/ T o 5 Hﬂ}f,; - T,Eéﬂ
” il i ”
‘ = & et E iw.° = 2
I a‘” B _— R RCH [ T =¥ F R : . = :::::f::a; 3 == JACKWAR
oy =] o {} b F-===]
-
SINGLE FRONT or BACK DYNAMIC
//:7@ | H

NPT °
NaEdell \
l ' .

01 03/03/2022| RENAMED ASSEMBLY chiuve parola parola
00 [24/11/2021 FIRST ISSUE Spic parola parola
No. DATE ISSUE DRW. CHK. APP.
PROJECT:
TITLE:
SEGMENT TRANSPORTER GENERAL ASSEMBLY
Scale Drawing format Sheet Of
] O | 1 A1 3 3
- DEAL CLASS Nr. Originator: Total weight [kq] :
Sede e Stabiimento 5099 145 -
Via Buttrio—Frazione Cargnacco
33050—Pozzuolo del Friuli (UD)—Italy DEAL document n.
Tel.: +39 0432 607 900 set doc type group nr Rev.
Fax.: +39 0432 607 902
e—mail: deal@deal.it
145DU | GD | O | 0071 01

Project n.

AL RIGHTS RESERVED INCLUDING THE RIGHT T0°REPRODUCE OR TO DISCLOSE TO THIRD PARTIES THIS DRAWNG OR POSITION THERE OF WITHOUT DEAL WRITTEN AUTRORIZATION




NUMBER OF 145 10 FRABRICATE = 4

/864 E FACH WINCH GANTRY MUST BE MARKED WITH A
i o o = DIFFERENT LETTER (A-B-C-D)
: @@@ [ ] [ ] QUANTITY IN THE BILL OF MATERIAL ARE FOR ONE UNIT.
BRI ) j:{ | | | N :;i HUMTBEQEOGFHLNTS FOR EACjSEC?Ué&ENT = 1
B ilame et N s e TOTAL WEIGHT = B0 kg
e ke — ! : x\%--—:/f*MM_\:--m - 9
= s N =\ 40
g s N L AT MANUFACTURE FOR 4  EQUIPMENT.
_ 1 I
;: 2 IS
) B © L iy l I - s
| < 4\@:: i ::@/F e COLOR GENERAL CONSTRUCTION REQUIREMENTS
NA ) Be2E . by %n” . & | ' ‘
¢ ‘ W ‘ ‘ 1l ENAMEL RAL For general construction requirements refer to
T YELLOW 100/ docurment n. T45DUSTO00]
L - BLUE 5017
WHITE GRAY 9002
@/ RED 3000 (¥) = ONLY PROTECTION AGAINST RUST FOR
For paint cycle refer to BOLTED SURFACES
1197 3550 1197 | /00 | 660 | /00 p| y'f. i
general specification () = ONLY TECTYL ON MACHINING SURFACES
T45DUSTO001
e@® e@@@ 112| 24 | NUT M12 1SO 4032 CL 8 9 [0.017] 0.4 |-
111] 24 | WASHER 12x24 15O 7089 CL 200HV %9 |0.006| 0.14 |-
f W 110| 24 | SCREW M12x40 1SO 4017 CL 8.8 09 0.047] 113 |-
= T | by EGEN /N[109] 2473 NUT M8 150 4032 CL 8 m  [0.005] 0.06 |-
| T ” ” /N[108] 91 | WASHER 8.4x16 150 7089 CL 200HY 0% |0.002] 0.18 | -
: I | L /N107 67} SCREW M8x20 1SO 4017 CL 8.8 0399 0.014] 0.1 |-
| 7 [1 106| 75 | WASHER 17x30 ISO 7089 CL 200HV 5% | 0.011]0.18 |-
S—— T 105| 16 | SCREW M16x40 ISO 4017 CL 8.8 o9 0.088| 1.4 |-
H 104| 4 | WASHER 10.5x21 SO 7089 CL 200HV 0% |0.004|0.016 |-
103| 4 | SCREW M10x20 ISO 4017 CL 8.8 o9 0.022] 0.1 |-
- 102| 24 | WASHER 21x37 ISO 7089 CL 200HV o9 [0.017] 0.4 |-
| 101| 24 | SCREW M20x55 I1SO 4017 CL 8.8 o9 |0.187| 45 |-
I DETAIL A POS. | Q.Y | DESCRIPTION coD | "MMegt™ | NOTES
= | SCALE 1:5
‘ N 11| 4 |BUSHING T5-A-013 | TASDUCDAOT4 | 4.5 | 18 | YELLOW | (¥
10 | 4 |ROLLER WASHER T5-A-012 | T45DUCDAO13 | 0.05 | 0.2 | YELLOW | (¥
9 | 4 |ROLLER PIN 4011 | T4SDUCDAOT2 | 0.75 | 3 | YELLOW | (*)
N 8 | 4 |ROLLER A0 | T4SDUCDROTY | 3| 12 | YELLOW | (%)
7 | 4 |CYUNDER T5-A-007 | T4SDUCDAGO7 | 88 | 352 | REDAY (¥
6 | 1 |LATERAL PROTECTION MUFFLER T45-A-006 | TASDUCDAGOS | 5 5 | YELLOW | (%)
5 | 3 |LATERAL PROTECTION T5-A-005 | T4SDUCDAGOS | 6 | 18 | YELLOW | (¥
/ " - 4 | 2 |UPPER PROTECTION TH5-A-004 | TASDUCDAOD4 | 33 | 66 | YELLOW | (¥
~ ] 3 | 1 |ELECTRICAL PANEL SUPPORT FRAME T5-A-003 | T4SDUCDAOO3 | 54 | 54 | YELLOW | (¥
B © | 2 | 1 |TANK SUPPORT FRAME T5-A-002 | T4SDUCDAGOZ | 71 | 71 | YELLOW | (%)
2 1 | 1 | TRASPORTER FRAME T5-A-001 | TASDUCDAOOT | 2905 | 2905 | YELLOW | ()
= ot ' T i P0S. [QTY]  DRAWING TITLE MARK | DRAWING N | T T [ COLOR | NOTES
© 1y i POS. [Q.TY|  DESCRIPTION MARK | DRAWING N° | YN 19T | COLOR/NOTES
V24 = WEIGHT
DETAH— B ' 01 |10/11/20271| REVISED WHERE INDICATED Spic parola parola
SCALE 1:2.5 00 |05/711/2021 FIRST ISSUE PC | poo | parlo
| No. DATE ISSUE DRW. | CHK. | APP.
| PROJECT:
F J: /
N TITLE:
T [}
%g . siea 8 STRUCTURE GROUP
""" N
Scale Drawing format Sheet Of
L U [ = © 15 A 1 1
[ - DEAL CLASS Nr. Originator: Total weight [kg] :
Sede e Stabilimento 2099 T45 351 O
Via Buttrio—Frazione Cargnacco
33050-Pozzuolo del Friuli (UD)-ltaly DEAL document n.
Tel.. +39 D432 607 900 set doc type group e Rev.
Fax.: +39 0432 607 902
e—mail: deal@deal.it
145DU  AD 0 A 001 01
Project n.
ALL RIGHTS RESERVED INCLUDING THE RIGHT 10 REPRODUCE OR TO DISCLOSE TO THRD PARTIES THIS DRAWNG OR POSITION THERE OF WITHOUT DEAL WRITIEN AUTHORIZATION




	T45DUGDO001_01_opt.pdf (p.1-3)
	T45DUADA001_01_opt.pdf (p.4)

